
 
 

Moments of Inertia (cross sections) Problem Solutions 

By integration 

Example 1: 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

Example 2: 

 



 
 

Example 3: 

 

Solution: 

 

 

 

 

 



 
 

Example 4: 

 

 

 

Solution: 

 

  



 
 

Composite bodies 

Example 1: 

  

 

Solution: 

 

Alternatively for 𝐼𝑥0
: 

 

 

 

 

 

𝐼𝑥0
= 𝐼1 𝑥0

− 𝐼2 𝑥0
=

1

12
[𝑏ℎ3 − 𝑏′ℎ′3

] =
1

12
[100 ∗ 1603 𝑚𝑚4 − 80 ∗ 1203 𝑚𝑚4] = 22,613,333 𝑚𝑚4 
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Example 2: 

  

Solution: 

 

  



 
 

Example 3: 

 

Solution: 

 


